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Forget about E^n; it is not a manifold in the above sense but _a manifold with boundary_. However, S^n is a manifold.
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If X is connected.
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d_1
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i+1, not i-1
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+ compatibility condition for \alpha \leq\beta\leq\gamma: \phi_\beta\gamma o \phi_\alpha\beta = \phi_\alpha\gamma
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for all i at most n
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So Y is homotopy equivalent to M_f.
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This is not true, but f(E^n_X) will be a union of closed cells (and that's enough for us). This is proven by applying the argument below to f(E^n_X)\cap E^n_Y.
















